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402 RIZEX20| A 208,000 110,000 98,000
01 U2 EALE X (KA ) 208,000 110,000 98,000
Ottt €l UHsZEH HE MY
40,000,000& * 1JHA 40,000
Ot= MASs A3 |4 MY
50,000,000& = 1.5ha *» 80% 60,000
ot = - SdE ST AA MY
8,000,000& = 1ha 8,000
Ontd =535 JIH HHl 25 At g
7,000,000& * 100K 2 70,000
OXYHY HE S0 I8 A
7,000,000& * 242 14,000
ONEZ del¥oll X AIAE &g AlY
16,000,000& = 1JH A 16,000
488 5 =4 731,336 611,530 119,806
101 14 Hl 31,836 21,930 9,906
04 JIZHHZ22XEES 31,836 21,930 9,906
OZz=xt Zz=Xael & Mo -22 NF22X
=0 30,656
-Jl 2 3 1,520,000& = 1H » 108 15,200
- 22 506,660& * 1H = 103 5,067
- WE2xl 130,000& = 18 = 102 1,300
- Z A S A 130,000& = 1H = 103 1,300
—A2tZ2=2 16,4103 * 16AI12F = 103 2,626
- X2 4| 10,9403 = BAIZ2+ = 7L 613
- EFOHI 912,000& = 13l 912
-JE=¢ 60,0008 * 103 600
—-4EE= 27,618,000& * 11% 3,038
O&¥ZX 22 XA Al 100,000& =+ 83l 800
OF=ZXt JIZNIZ 2 A A7 Y
3,000& = 100 300

_10_




SA: A0 =1t
N2 }\Hj|§ 220 dEdEAsg 4
G4 =9 MIIs 22 (2 &HH)
_ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXIZX JI2ZHZ2X IS Y ot 2¢l
80,000& = 1&H 80
201 B9 102,000 86,000 16,000
01 AFR2 2t 2| H| 12,500 56,000 A 43,500
OsSHzE TN 7Y 500
OSMEE 222 HE 5,000
OSNES AIY AIZ 228 83 & AEIH M
& 2,000
Odlg=s Z2s0d 802 HMOU2ID 2 5,000
03 Al A H| 89,500 30,000 59,500
OXEEME e WRl
3,000& * 1,0008 3,000
OXESdtEg g 88 42 J&
50,000& * 100H 500
OJtotXt2sts 0ty 30,000,000& = 13 30,000
OHZIZX TAl - EE ANSE 29
1,000,000& =* 153 15,000
O&ZX A&t 249 1,500,000 « 1000 &~ 15,000
OXEso 4 8,000
otdus 29 10,000
OENMEZE g0 UF 2,000
OSNZ E2YEA 2¢ 2,000
OS4 soo #xus Hzdx
1,000,000 * 43| 4,000
202 04| 1,500 1,500 0
01 2L HI 1,500 1,500 0
OXNAENMNE 4 ER2FA0HHI 1,500
203 € R F=&d| 3,000 2,000 1,000
03 AIZH =X 2 F XY 3,000 2,000 1,000
O=EEE SN2 ¢ 1,500,000& * 2= 3,000
206 M = dl 8,000 8,000 0
01 =4l 8,000 8,000 0
H2XF AKX 2el HWE 500,000& * 2= 1,000
OEXMA M=t HOASE XY P04
50,000& * 60kg 3,000
O&=ZI AEQEEN 242 B2 2¢
500 = 8,000 4,000
301 et A= 32,000 29,100 2,900
09 SHAIAHI E A2 22,000 19,100 2,900
ONYSHE JEDE B4 243
8,000& * 50H x 63 2,400
OEAMANEANY "Holg HEFALA84
8,000& * 100Y = 23| 1,600




2N sI=sY
B MJlE B2 ABASY sS4
¢l =g MIIzE B (&)
5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
OJIOIXt 23 Et0tEY & FZ X A, 82 A
g4 B4F 1,000,000& * 183l 18,000
MIIEBELS 10,000 10,000 0
Ox=zzael 84 2,500,000 = 23l 5,000
Oottallthsr 29 1,250,000 * 43| 5,000
307 gl2tol & 179,000 94,000 85,000
02 IZtA M AHE X 179,000 94,000 85,000
OZF=x Mo ¥ FS&43 X
10,000& * 2,000set 20,000
OZ=Zx R Mg =X 30,000
O&EZX ANEHE 2F 2,250,0008 * 2000 & 45,000
OHlel|{ AHIAIE A 20,000
Oolgd= FSstdl =4 & N2
2,400,000 = 25¢ 60,000
OZoH&EZA SE2A XA 4,000
401 Al HI L 2T 17,000 45,000 28,000
01 A& HI 17,000 45,000 A 28,000
OFZX ANMZHX Es Hl 17,000
402 RI2EX=20l M 357,000 324,000 33,000
01 2I2E 2 A B (KR ) 357,000 324,000 33,000
o= B2 B2 500& = 50,000 25,000
OFEZX MCOIIDl 2 & AEME X
40,000,000& * 1J0HA 40,000
O&ZX MNE=sE A& L JIXMH XA
10,000,000& * 30 A * 50% 15,000
O&tT D, Hicl= oIzt =& At 158,000
OAE X &3 ALY 105,000
OHxs s Xl =4 7,000
Oflel® H33 4 AtY 7,000
AIIEEZ AL (24]) 1,463,860 854,900 608,960
= 181,930
Xl 500,000
< 150,000
Al 631,930
TESUM Y s . sEXRNSE T2 2 20,000 0 20,000
= 10,000
Al 10,000
201 LBH2EH| 16,000 0 16,000
= 8,000
Al 8,000
03 A2 Z Hl 16,000 0 16,000
OXZSSuA 22usE T2 16,000
= 8,000
Al 8,000




M sllsn
A

M Nz 220 AT |4
& AII=ES A (=) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

301 et d = 4,000 0 4,000
= 2,000
Al 2,000

09 HALAHIEA S 4,000 0 4,000
OXZSSuAN 22| T2 4,000
= 2,000
Al 2,000

ADER AN (FAS SHZNAME) 6,000 0 6,000
2 3,000
Al 3,000

402 RIZEX201 ™ 6,000 0 6,000
= 3,000
Al 3,000

02 U2 THEALEZ(0IETHR) 6,000 0 6,000
OADNEE L= ICT 21718Z ¥ LHAEY 6,000
= 3,000
Al 3,000

G MNES RIEZS U MY 80,000 0 80,000
= 40,000
Al 40,000

402 RI2HXt20l 80,000 0 80,000
= 40,000
Al 40,000

02 QI 2 A EZ (O THE) 80,000 0 80,000
OLI EZ ZJI22 &0 AlY 80,000
= 40,000
Al 40,000

EXHEFY 2¢ 25,000 22,000 3,000
= 12,500
Al 12,500

201 Let24E] 13,000 2,000 11,000
= 6,500
Al 6,500

01 At 2t 2l 5,000 2,000 3,000
OExZFY 2 5,000
= 2,500
Al 2,500

02 2324l 8,000 0 8,000
OELAZY 2d 8,000
= 4,000
Al 4,000

206 T2 bl 2,000 0 2,000
= 1,000
Al 1,000

01 =4l 2,000 0 2,000




M sllsn
A

A MII= E=sn Hed3sy 24
o2l ADI=EZAME(328]) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

OELZZY 29 2,000
= 1,000
Al 1,000

207 A RO H| 10,000 4,000 6,000
= 5,000
Al 5,000

03 A& &2l 10,000 4,000 6,000
OELHZY 24 10,000
= 5,000
Al 5,000

s&sE Yols g X (=) 120,000 74,000 46,000
= 60,000
Al 60,000

206 M= Hl 120,000 74,000 46,000
= 60,000
Al 60,000

01 =8l 120,000 74,000 46,000
Ot~ sz ZH 120,000
= 60,000
Al 60,000

Holils MEE A 2 20,000 18,000 2,000
= 10,000
Al 10,000

101 124 dl 12,000 12,000 0
= 6,000
Al 6,000

04 JIZHHZ2XREE S 12,000 12,000 0
Ol 8ols EXE 2 12,000
2 6,000
Al 6,000

201 Let24d] 2,000 2,000 0
= 1,000
Al 1,000

01 At 22/l 2,000 2,000 0
Ol ol HzEzx 249 2,000
2 1,000
Al 1,000

207 A O H| 6,000 4,000 2,000
= 3,000
Al 3,000

03 Al & 11l 6,000 4,000 2,000
O gols HZEE Mt 22 6,000
= 3,000
Al 3,000

=2 golls 222 29 & 3,600 4,500 A 900
= 1,800
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A

Hu: Nls 220 dBAsY |4
& AII=ES A (=) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 1,800

301 et d =S 3,600 4,500 A 900
= 1,800
Al 1,800

NMIIEEd= 3,600 4,500 A 900
OH golls 222 24 900
= 450
Al 450
ORH&E olls 222 29 2,700
= 1,350
Al 1,350

das 4 N 36,000 42,000 A 6,000
= 18,000
Al 18,000

201 ¢er2d| 13,000 12,000 1,000
2 6.500
Al 6,500

01 At 2t 2l 5,000 12,000 AT7,000
OZas 84 XA 5,000
= 2,500
Al 2,500

03 &Ar2 Gl 8,000 0 8,000
OZas 54 XA 8,000
= 4,000
Al 4,000

301 et d = 5,000 6,000 A 1,000
= 2,500
Al 2,500

09 SALAHIEA S 5,000 6,000 A1,000
OZas 84 XA 5,000
= 2,500
Al 2,500

307 2I2+0 & 18,000 20,000 2,000
= 9,000
Al 9,000

02 YAFAAFEX 18,000 20,000 A 2,000
OZaxs =4 XA 18,000
= 9,000
Al 9,000

das Atgael & 40 HOtXE 9,000 9,000 0
= 4,500
Al 4,500

201 Yete | 5,000 7,000 £2,000
= 2,500
Al 2,500

03 A2 Z HI 5,000 0 5,000
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Hu: Nls 220 dBAsY |4
& AII=ES A (=) (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 4,000

201 L4 4,000 0 4,000
2 2,000
Al 2,000

03 & Ar2 I 4,000 0 4,000
OJIzgsllsns 29 4,000
= 2,000
Al 2,000

301 et a3z 4,000 0 4,000
= 2,000
Al 2,000

09 AL HIZ &S 4,000 0 4,000
OJI=gsllsls 23 4,000
= 2,000
Al 2,000

NesRA d2s"HigEsidE 5,060 5,600 A 540
= 2,530
Al 2,530

202 O4dl 5,060 5,600 A 540
= 2,530
Al 2,530

01 = LH 4 Hi 5,060 5,600 A 540
OXNE=SRd dEsd8iy g5 N& 5,060
= 2,530
Al 2,530

sPaargsaos 29 1,200 1,400 A 200
= 600
Al 600

201 LBt 1,200 1,400 A 200
= 600
Al 600

01 At 22l 1,200 1,400 A 200
Osgutetgrsa s 29 1,200
= 600
Al 600

SENSAS 2SS 6,000 6,000 0
= 3,000
Al 3,000

202 4l 6,000 6,000 0
= 3,000
Al 3,000

01 = LH 4 Hi 6,000 6,000 0
OsEZEANY 8F JI=Xd g5 N3 6,000
= 3,000
Al 3,000




M sllsn
A

M Nz 220 AT |4
& AII=ES A (=) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=== Is s4X3 4,000 4,000 0
= 2,000
Al 2,000
301 gt d= 4,000 2,000 2,000
= 2,000
Al 2,000
09 SALAHIEA S 4,000 2,000 2,000
OF=sgeld+s 41 4,000
= 2,000
Al 2,000
sENZ It 4 (&) 1,100,000 30,000 1,070,000
Xl 500,000
< 150,000
Al 450,000
405 XHoHF S HI 1,100,000 30,000 1,070,000
Xl 500,000
< 150,000
Al 450,000
01 AL EFSFHSHI 1,100,000 30,000 1,070,000
OZzA et s ¢ 1,100,000
Xl 500,000
< 150,000
Al 450,000
DEE 2 oHF M (EH) 166,000 736,000 A570,000
< 65,750
Al 100,250
SOEE HRJI HZ ALY FHU A 10,000 0 10,000
< 5,000
Al 5,000
405 TtHebF S| 10,000 0 10,000
< 5,000
Al 5,000
01 Tt EFH S 10,000 0 10,000
O=g8d MH2Il= ol2 A4E &l X 10,000
< 5,000
Al 5,000
SENESRH 9&2s A& 5,000 8,000 A 3,000
< 1,500
Al 3,500
201 ¢er24] 3,000 0 3,000
< 900
Al 2,100
01 At 2t 2l 3,000 0 3,000
OSZFEZ2Y AYAs X 3,000
< 900
Al 2,100
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Hz: M Ex230 dEtdsy &4
Sel: DER M2 OHF MA(ZH) (B9 ®R)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2

= 9,000
Al 9,000

H IICelE ZHII= AlY 3,000 0 3,000
= 1,500
Al 1,500

402 QI2H X201 M 3,000 0 3,000
= 1,500
Al 1,500

02 CIZEXIE A EX (0| XM THL) 3,000 0 3,000
OH 2Itiel"y &M= Al 3,000
& 1,500
Al 1,500

ASEH 2 S8EHY Jss 5,000 5,000 0
< 1,250
Al 3,750

202 04d| 5,000 5,000 0
< 1,250
Al 3,750

04 =Ml st dl 5,000 4,000 1,000
OA S S8 J=sus 5,000
& 1,250
Al 3,750

HHZES RoIH MHAG 40,000 0 40,000
o= 15,000
Al 25,000

402 SI2vXHE0| ™ 40,000 0 40,000
=} 15,000
Al 25,000

02 CIZtXIE A E X (0| XM THH) 40,000 0 40,000
O oI A 40,000
& 15,000
Al 25,000

A B4 UBS 23 MY 8,000 8,000 0
< 3,000
Al 5,000

402 SI2FXHE0| M 8,000 8,000 0
= 3,000
Al 5,000

02 CIZEXIEAIS X (0| XM THL) 8,000 8,000 0
OdY sS4 MES B2AY 8,000
=} 3,000
Al 5,000

Sg et A AlY 8,000 0 8,000
= 4,000
Al 4,000

402 I RHRO0IA 8,000 0 8,000
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4
chelr DEA

Al OFM A Al [) (e &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 4,000
Al 4,000

02 BIZtXIEANYEX(0OIETHH) 8,000 0 8,000
O=sgy &t 2H AlY 8,000
o= 4,000
Al 4,000

NADE HHsg A SAHAY 8,000 8,000 0
= 3,000
Al 5,000

402 SI2FXHE0| & 8,000 8,000 0
& 3,000
Al 5,000

02 CI2ZtXIE A E X (0| X THSH) 8,000 8,000 0
OXAD|E Hi s UG |4 AlY 8,000
& 3,000
Al 5,000

Molsg9ol A= 20,000 20,000 0
& 6,000
Al 14,000

201 gEt24d| 12,000 20,000 A 8,000
= 3,600
Al 8,400

03 A2 G HI 12,000 0 12,000
OMillsgeol Agns &9 12,000
=} 3,600
Al 8,400

301 et A= 8,000 0 8,000
= 2,400
Al 5,600

09 HAIAHI BEAZ 8,000 0 8,000
OMollsgol Agins 29 8,000
= 2,400
Al 5,600

Metdsg |4 2,513,199 2,520,419 NT,220
= 734,525
J| 2,300
o= 140,586
Al 1,635,788

SIOIEHI 2 N (Z2HEX) 910,000 1,088,000 A 178,000
= 560,000
Al 350,000

307 2I2t0| ™ 910,000 1,088,000 A 178,000
= 560,000
Al 350,000

02 DIZEB AAIE E X 910,000 1,088,000 A 178,000
OKJI&EHE NIAY 910,000




2N

Hz: M Ex230 dEtdsy &4
ool ABPSY S (B9 ®R)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 560,000
Al 350,000

SIIEHIZ NI (EHEX) 209,000 272,000 A 63,000
== 40,000
Al 169,000

307 2Iz2t0| A 209,000 272,000 A 63,000
= 40,000
Al 169,000

02 QI AAIE E X 209,000 272,000 A 63,000
OKJI&EH 2 XNIAY 209,000
& 40,000
Al 169,000

EXFMEH XS 151,000 125,114 25,886
= 98,000
Al 53,000

307 giztol A 151,000 125,114 25,886
= 98,000
Al 53,000

02 QI2tAAMAIE E =X 151,000 125,114 25,886
OELIMNEH 52 151,000
= 98,000
Al 53,000

SINsSXMH XS 38,812 31,916 6,896
= 15,525
o= 6,986
Al 16,301

307 2I2t0| ™ 38,812 31,916 6,896
= 15,525
& 6,986
Al 16,301

02 DI AAIE E X 38,812 31,916 6,896
ORI=sSANM XNSAS 38,812
= 15,525
& 6,986
Al 16,301

A=A =2 61,000 61,000 0
= 61,000

301 LBt A= 61,000 61,000 0
= 61,000

11 JIEtE2 A= 61,000 61,000 0
OXBA=Y NFXE 61,000
= 61,000

BASSHNINEN ESAM 2,300 2,300 0
J| 2,300

206 24 2,300 2,300 0
J| 2,300
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